Soustraction (C)

Calculez la différence.

6481 2892 5928 7225
—582 =658 H94 =854
6669 7659 9433 1098
=181 Al5 =233 37l
4810 5727 7791 3967
=28 =243 A7 =100
4582 3627 3345 6660
=284 177 =350 =285
2092 9649 1148 3495
=601 D521 D31 DH&2
8891 7395 4310 1014
=73 =552 B8 224
2705 3548 5671 4296
=367 945 AR9  HA03
3971 3078 3558 6061
=162 81 =223 1l
5233 1152 5380 2843
=84 Hd53 =260 =390
8130 1221 1826 3386
=05 =26 940 H1l

3662 2082 2281 4375 5155 9422
=289 648 459 358 H83 946
1760 5306 6915 6033 2807 4614
=27 637 =69 832 £16 =886
6621 1775 4120 1060 3302 5306
=05 H98 204 |6 =49 610
2121 4585 2173 9446 9624 8410
=58 H77 HI0 =20 280 7l
7356 4015 3386 9448 3207 2024
=432 =105 295 647 A08  H08
5245 2985 4900 3318 1552 2574
=145 646 =115 =381 292 =202
1745 3002 3024 4607 3049 8871
=246 =178 =206 =116 =315 =297
9207 6525 3976 5733 7006 6744
=76 =95 637 W|dH =326 =H05
0377 8336 5762 3889 578 5362
=989  HI 225 HIA0 A0 H71
9388 8559 3203 8588 3041 9424
=80 995 H31 =72 H9 =378
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Soustraction Solutions (C)

Calculez la différence.

6481 2892 5928 7225
—582 =658 H94 =854
5899 2234 4934 6371
6669 7659 9433 1098
=181 Al5 =233 37l
6488 7244 9200 727
4810 5727 7791 3967
=28 =243 A7 =100
3982 5484 7315 3867
4582 3627 3345 6660
=284 177 =350 =285
4298 3450 2995 6375
2092 9649 1148 3495
=601 D521 D31 DH&2
1491 9128 617 2913
8891 7395 4310 1014
=73 =552 B8 224
8018 6843 3925 790
2705 3548 5671 4296
=367 945 AR89  HA03
2338 2603 5182 3893
3971 3078 3558 6061
=162 X561 223 11
3809 2227 3335 5230
5233 1152 5380 2843
=84 Hd53 =260 =390
4349 099 5120 2453
8130 1221 1826 3386
=05 =26 940 H1l
7325 695 886 2475

3662 2082 2281 4375 5155 9422
=289 648 459 358 H83 946
3373 2334 1822 4017 4572 8476
1760 5306 6915 6033 2807 4614
=27 =637 =69 832 £16 =886
1033 4669 6046 5201 2191 3728
6621 1775 4120 1060 3302 5306
=05 H98 204 |6 =49 610
5916 1177 3916 204 2553 4696
2121 4585 2173 9446 9624 8410
=58 H77 HI0 =20 280 7l
1363 4008 1263 8726 9344 7539
7356 4015 3386 9448 3207 2024
432 =105 =295 647 408  =H08
6924 3910 3091 801 2799 1516
5245 2985 4900 3318 1552 2574
=145 646 =115 =381 292 =202
5100 2339 478> 2937 1260 2372
1745 3002 3024 4607 3049 8871
=246 =178 =206 =116 =315 =297
1499 2824 2818 4491 2734 8574
9207 6525 3976 5733 7006 6744
=76 =95 637 W|dH =326 =H05
8431 5630 3339 4878 6680 6239
0377 8336 5762 3889 578 5362
=989  HI 225 HIA0 A0 H71
4388 7950 5337 2949 5326 4391
9388 8559 3203 8588 3041 9424
=80 995 H31 =72 H9 =378
9008 7564 2672 7816 2072 9046

MathsLibres.com




